16

y=aX.+bx-+cC

y =
a= 10,401.561 b= 0.587 C= -42398.222
X1 = Xo =

y =
a-= 6.398 b= 40.147 Cc= -580.766
X1 = Xo =

y =
a-= 61.275 b= 0.472 c= -2369.353
Xz = Xo =

y =
a-= 19.720 b= 4185.660 c= -6338.099
X1 = X2 = )

y =
a= 44 .482 = 58236.961 c =-205859.014
X1 = Xo =
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44
x1 X2 x1 X2 x1 X2 x1 X2 x1 X2
3.908 9,511 53.176] 21.528| 129.373 9,511| 119.224 2.692 261.085 4.020
5.162 1,387] 152.007] 31.047| 170.002 1,387| 484.420 3.541| 3,468.305 3.192
5.654 319| 264.619] 25.082] 291.708 319| 522.660 3.864| 1,221.116 5.160
5.036 741| 128.521] 32.570| 187.357 741| 261.004 3.683| 1,472.479 3.761
4.289 2| 80.145| 23.199| 144.225 2|  74.916 3.194 196.705 3.822
4.627 9] 93.199] 28.016] 155.050 9] 122.935 3.436 518.871 3.679
3,834 624| 10,047 7,281] 39,867
12,109] 1,638 8,702 18,036| 134,311
16,599 2,119] 15,656] 20,142| 148,961
10,419] 1,549 9,461 14,225 78,669
2,215 863 6,469 8,508 25,472
5,735] 1,140 7,136 10,468 31,475
3,106.2| 5,304.3 1,196] 2,499.8 472 64,254 60,460
12,700.2]45,274.5 13,039| 7,526.8 1,697 705,091 755,743
3,327.3[13,751.6 3,255| 1,977.8 406 235,645 226,229
8,069.0(27,646.4 6,623| 5,021.7 1,215 356,572 364,214
898.4| 1,751.8 454 855.2 258 20,287 19,044
2,638.8] 8,790.9 1,740| 2,102.2 573 77,613 72,199




